
vendas@invistatextil.com.br 

lucas@invistatextil.com.br 

(9 (19)99354 -9099 

\._ (19) 3457 -1419 

Rua do diamante, 82 -São Fernando -Santa Barbara D'Oeste -SP -CEP-13454-250 

Cnpj: 21.958.986/0001-87 - Delutex Comercio de Acessórios Têxteis LTDA. 

https://api.whatsapp.com/send/?phone=%2B5519993549099&text&type=phone_number&app_absent=0
tel:+551934571419


 

 
 
1  

 
 

 

 
 

 

 

 

 

VAMA-0001 VAMA-0002 VAMA-0003 

ENTER GRIPPER WIT GROOVE 
LEONARDO 

FALCON FLYER 
BODY FOR ENTER GRIPPER 

LEON. 

 

 

 

 

 

 

 

 

 

VAMA-0004 VAMA-0005 VAMA-0006 

LEVER KIT GROOVED FOR 
ENTER GRIPPER LEON. 

LEVER KIT SMOOTH FOR 
ENTER GRIPPER LEON. 

TENSION SPRING 

 

 

 

 

 

 

 

 

VAMA-0007 VAMA-0008 VAMA-0009 
PLATE T= 0.5 SCREW M2X4.5 PAD 

 

 

 

 

 

 

 

 

VAMA-0010 VAMA-0011 VAMA-0012 

PAD 
EXIT GRIPPER WITH GROOVE 

LEON. BODY FOR EXIT GRIPPER LEON. 

 

 

 

 
 
 

 

 

 

 

VAMA-0013 VAMA-0014 VAMA-0015 
HOOK GROOVE TYPE LEVEL + BODY LEVER 

 
 

 

 

 

 
 

 

VAMA-0016 VAMA-0017 VAMA-0018 
SPRING GROOVED TYPE OPENER BUSH 

 

 

 

 
 

 

 

 

VAMA-0019 VAMA-0020 VAMA-0021 

SPRING SHAFT 
TEFLON PLUG FOR 

LUBRIC.P1001/LEO/ALPHA 



 

 
 
2  

 

 

 

 

 

 

VAMA-0022 VAMA-0023 VAMA-0024 
TEFLON PLUG LEONARDO 

FTS/R9500 29,2X50X9,8mm 
TEFLON PLUG 

LEONARDO/R9500 
DRIVE WHEEL Z=136 

LEON./K88/P1001 
 

 

 

 

 

 
VAMA-0025 VAMA-0026 VAMA-0027 

HOOK GUIDE SET 
K88/LEONARDO SLIDING BLOCK LH H170-230 SLIDING BLOCK RH H170-230 

 

 

 

 

 

 
VAMA-0028 VAMA-0029 VAMA-0030 

BRAKE SHOE SUPPORT LH SN 
K2000 61(S) 

BRAKE SHOE SUPPORT RH DS 
K2000 61(D) 

BRAKE SHOE SUPPORT LH SN 
LEONARDO 61(S) 

 

 

 

 

 

 

 

VAMA-0031 VAMA-0032 VAMA-0033 
BRAKE SHOE SUPPORT RH DS 

LEONARDO 61(D) 
EXIT SHOE OPENER L=423 

LEON. OPENER RH 370X25X5 LEON. 

 
 

 

 

 

 

 

VAMA-0034 VAMA-0035 VAMA-0036 
EXIT GRIP.OPENER 

360,5X28X0.5 LEO/R9500 FF 
ENTER GRIPPPER OPENER 

LEONARDO 
MOBILE WEFT BLADE LEON. 

 

 

 

 

 

 

VAMA-0037 VAMA-0038 VAMA-0039 

FIX WEFT BLADE LEON. 
MOBILE WEFT BLADE FOR 

SILVER 
SOLID BLADE SILVER 

 

 

 

 

 

 

VAMA-0040 VAMA-0041 VAMA-0042 
 

SELVEDGE CUTTER LH 
BLADE FOR CUTTER 

401/P1001/9000PLUS/LEONAR 
DO 

 
SELVEDGE CUTTER RH 



 

 
 
3  

 
 

 

 

 

 

 

VAMA-0043 VAMA-0044 VAMA-0045 
CUTTER BLADE 

401/P1001/9000PLUS/LEONAR 

DO 

 

CENTRAL CUTTER P1001 
SUPPORT FOR FIXED BLADE 

LEON. 

 

 

 

 

 

 

VAMA-0046 VAMA-0047 VAMA-0048 
SUPPORT FOR MOBILE BLADE 

LEON. 
8 COLOR SELECTOR LEON. 

AFTER 2004 
8 COLOR SELECTOR K88&LEON. 

BEFORE 2004 
 

 

 

 

 

 

VAMA-0049 VAMA-0050 VAMA-0051 
MAGNETIC PLATE WITH CARD 

FOR K88 
MAGNETIC PLATE WITH CARD 

FOR LEONARDO 
SENSOR K88/LEONARDO 

 

 

 

 

 

 

VAMA-0052 VAMA-0053 VAMA-0054 

SENSOR LEONARDO /SILVER 
COIL WITH SELECT FINGER FOR 

K88 
COIL WITH SELECT FINGER FOR 

LEONARDO/G6500 

 

 

 

 

 

 

VAMA-0055 VAMA-0056 VAMA-0057 
WEFT FINGER CEREMIC EYELET D=3.5 SECTOR INSERT 

 

 
 

 

 

 

VAMA-0058 VAMA-0059 VAMA-0060 
CONNECTOR FOR CARD PUSH BUTTOR CONNECTOR PLATE FOR MOTOR 

 

 

 

 

 

 

VAMA-0061 VAMA-0062 VAMA-0063 
PIN COMPLETE CLUTCH BRAKE 

UNIT LEON./K88 
MAGNET #1 LEON. /K88 



 

 
 
4  

 

 

 

 

 

 

VAMA-0064 VAMA-0065 VAMA-0066 
DISC #2 LEON./K88 ROTOR #3 LEON./K88 MAGNET #4 LEON./K88 

 

 

 

 

 

 

VAMA-0067 VAMA-0068 VAMA-0069 
COMPLETE SLOW MOTION FOR 

LIGHT FABRIC 
COIL LEO/K88/R880 GEAR FOR LEON. ONLY 

 

 

 

 

 

 

VAMA-0070 VAMA-0071 VAMA-0072 
TOOTHED PLATE FOR LEON. 

ONLY COIL FOR LEO/K88/R880 DISPLAY 5.7" LEON. OLD TYPE 

 

 

 

 

 

 

VAMA-0073 VAMA-0074 VAMA-0075 
DISPLAY 9.4" FOR 

JC5/ZAX/G6300/GS900/LEONA 

RDO 

 

ENCODER 12PINS 
 

PROXIMITY SWITH "S" 3 WIRES 

 

 

 

 

 

 

VAMA-0076 VAMA-0077 VAMA-0078 
ENCODER 

P1001/K88/LEONARDO 
MEMBRANE LEON. F1 TO F4 MEMBRANE LEON. F1 TO F8 

 

 

 

 

 

 

VAMA-0079 VAMA-0080 VAMA-0081 
WEFT DETECTOR(SINGL.)8H WEFT DETECTOR(SINGL.)6 H WEFT DETECTOR(DOUBLE) 6H 

 

 

 
 

 

 

 

VAMA-0082 VAMA-0083 VAMA-0084 
GEAR SHAFT Z=32 FOR WEFT 

CUTTER 
PIN SHAFT FOR TRANSMISSION 

LEVER 
OIL FILTER CS5000 M60-71 

LEONA. BLUE 



 

 
 
5  

 

 

 

 

 

 

VAMA-0085 VAMA-0086 VAMA-0087 

OIL FILTER CS5000-A10-71 
LEON. 

COMPLETE DUST COLLECTOR 
LEON. 

FILTER CAP LEON. 

 

 

 

 

 

 

VAMA-0088 VAMA-0089 VAMA-0090 
COVER LEON. BOX LEON. FILTER BOX LEON. 

 

 

 

 

 

 

VAMA-0091 VAMA-0092 VAMA-0093 

SELVEDGE PUSH 
401/P1001/LEONARDO 

SELVEDGE BOBBIN VAMATEX TEETH JOINT 

 

 

 

 

 

 

VAMA-0094 VAMA-0095 VAMA-0096 
YARN GUIDE LH V.Q.S.C. YARN GUIDE RH V.Q.S.C. KIT OF WEFT GUIDE 

 

 

 

 

 

 

 

VAMA-0097 VAMA-0098 VAMA-0099 
SUPPORTING SECTOR K2000 PULLEY FOR SPLITZ DRIVR REACTION 

 
 

 

 

 

 

 

VAMA-0100 VAMA-0101 VAMA-0102 

STRIP WEFT DEVIATOR 
HOOK BLOCK FOR WARP STOP 

MOTION 
 

 

 

 

 

 

VAMA-0103 VAMA-0104 VAMA-0105 
SPRING PLATE PLATE CERAMIC HOOK 



 

 
 
6  

 
 

 

 
 

 

 
 

 

VAMA-0106 VAMA-0107 VAMA-0108 

ENTER GRIPPER P1001 NO 
FLYER ENTER GRIPPER BODY 

CARBON FIBER FLYER FOR 
ENTER GRIPPER P1001 

 
 

 

 

 

 

 

 

 

VAMA-0109 VAMA-0110 VAMA-0111 

RIBBON TIPS P1001 
TENSION SPRING FOR PP YARN 

P1001 
TENSION SPRING FOR NORMAL 

YARN P1001 
 

 

 

 

 

 

 

 

 

VAMA-0112 VAMA-0113 VAMA-0114 
WIDIA PLATE P1001 EXIT GRIPPER P1001 NO FLYER EXIT GRIPPER BODY 

 

 

 
 

 

 

 
 

VAMA-0115 VAMA-0116 VAMA-0117 

CARBON FIBER FLYER FOR EXIT 
GRIPPER P1001 HOOK P1001 SLIDER NORMAL YARN 

 

 
 

 
 
 

 

 

 

VAMA-0118 VAMA-0119 VAMA-0120 
WEFT SPRING ROD P1001 TAB RH P1001 OPENING LEVER P1001 

 

 

 
 

 

 

 

 

VAMA-0121 VAMA-0122 VAMA-0123 
STUD LONG BUSH PAWL ROD 

 

 

 

 
 

 

 

 

 

VAMA-0124 VAMA-0125 VAMA-0126 
SPRING SCREW M2.5X7.5 SCREW M2X2.3 



 

 
 
7  

 

 

 

 

 
 

 

VAMA-0127 VAMA-0128 VAMA-0129 
HUB GUIDE HOOK P1001 GRIPPER OPENER P1001 

 

 
 

 

 
 

 

 

VAMA-0130 VAMA-0131 VAMA-0132 

EXIT GRIPPER REACTION 
TRANSFER EK 

GRIPPER OPENER P1001 
514MM 

GRIPPER OPENER PLATE 

 
 

 

 

 

 

 

VAMA-0133 VAMA-0134 VAMA-0135 

EXIT GRIPP.OPENING PLATE CAM FOR CUTTER P1001/C401 
MOBILE BLADE FOR 

401/P1001/9000PLUS 
 

 

 

 

 

 

VAMA-0136 VAMA-0137 VAMA-0138 

FIXED BLADE FOR 
401/P1001/9000PLUS CAM FOR CUTTER ECCENTRIC CAM FOR CUTTER 

 

 

 

 

 

 

VAMA-0139 VAMA-0140 VAMA-0141 

COMPLETE CLUTCH BRAKE 
UNIT 9 OHM P1001/MITHOS 

MAGNET #1 P1001 DISC #2 P1001 

 

 

 

 

 

 

VAMA-0142 VAMA-0143 VAMA-0144 
ROTOR #3 P1001 MAGNET #4 P1001 CAM FOR SELECTOR P1001 

 

 

 

 

 

 

VAMA-0145 VAMA-0146 VAMA-0147 
SELECTION LEVER RH P1001 SELECTION LEVER RH P1001E SELECTION LEVER LH P1001E 



 

 
 
8  

 

 

 

 

 

 

VAMA-0148 VAMA-0149 VAMA-0150 
LEVER OF SECOND DRIVE COLOR SELECTOR LEVER LEVER 

 

 

 

 

 
 

 

VAMA-0151 VAMA-0152 VAMA-0153 
SELECTION LEVER ARM WEFT SELECTION BAR P1001ES 

 

 

 

 

 

 
 

 

VAMA-0154 VAMA-0155 VAMA-0156 
WEFT SELECTOR BAR BUSH FOR HOLDER LEVER SPRING FOR HOLD LEVER 

 

 

 

 

 

 

 
 

 

VAMA-0157 VAMA-0158 VAMA-0159 
SPRING WEFT FINGER D=5 WEFT OSCILLATING BODY 

 

 

 

 

 

 
VAMA-0160 VAMA-0161 VAMA-0162 

GUIDE ROD P1001 
SLIDE BLOCK FOR SWINGING 

PIECE 
ELECTROMAGNET FOR COLOR 

SELECTOR 
 

 

 

 

 

 

 

VAMA-0163 VAMA-0164 VAMA-0165 
PIN FOR ELECTROMAGNET BUSH HEAD STOPPER 

 

 

 

 

 

 
VAMA-0166 VAMA-0167 VAMA-0168 

PULLEY Z=46 
PULLEY WITH SHAFT Z=26 FOR 

ENCODER DRIVE 
PULLEY Z=39 WITH COPPER 

SHAFT 
 

 

 

 

 

 

VAMA-0169 VAMA-0170 VAMA-0171 

PULLEY Z=23 UNLOCKING COUPLING PULLEY Z=39 OLD MODEL 



 

 
 
9  

 

 

 

 

 

 

VAMA-0172 VAMA-0173 VAMA-0174 

PULLEY Z=39 NEW MODEL PULLEY Z=23 
PULLEY Z=23 FOR WEFT 

SELECTOR 
 

 

 

 

 

 

VAMA-0175 VAMA-0176 VAMA-0177 
PULLEY Z=26 PULLEY Z=46 DISPLAY P1001 

 

 

 

 

 

 

VAMA-0178 VAMA-0179 VAMA-0180 

MEMBRANE P1001 MEMBRANE P1001 
WEFT DETECTOR(SINGL.) 4H 

P401/C401/P1001 3PIN 
 

 

 

 

 

 
 

VAMA-0181 VAMA-0182 VAMA-0183 

WEFT DETECTOR(SINGL.) 6H. 
P401/C401/P1001 3 PIN 

WEFT DETECTOR(SINGL) 8H 
C401/P401/P1001 3PIN 

GUIDE RAIL P1001 

 
 

 

 

 

 

 

VAMA-0184 VAMA-0185 VAMA-0186 

CLOTH DEFLECTOR SMOOTH 
L=237MM 

DUST COLLECTOR 401 FILTER BOX C401/P1001 

 

 

 

 

 

 

 

 

 

VAMA-0187 VAMA-0188 VAMA-0189 
WEFT LEVELLING CLOTH DEFLECTOR RH STRIP CLOTH DEFLECTOR LH STRIP 

 

 

 

 

 

 

VAMA-0190 VAMA-0191 VAMA-0192 

HALF MOON C401 
CAM P5E FOR WEFT COLOR 

SELECTOR P1001ES 
BUSH .P1001 



 

 
 
10  

 

 

 

 

 

 

 

 

 

VAMA-0193 VAMA-0194 VAMA-0195 

SHAFT ROD SHAFT 

 

 

 

 

 

 

VAMA-0196 VAMA-0197 VAMA-0198 

CLAMPING PIECE CLOTH ROLLER SUPPORT LH CLOTH ROLLER SUPPORT RH 
 

 

 

 

 

 

VAMA-0199 VAMA-0200 VAMA-0201 

BUSH FOR TAKE-UP ROLLER 
SUPPORT 

SLIDING PIECE (S) P1001 SLIDING PIECE (D) P1001 

 
 

 

 
 

 

 

 

VAMA-0202 VAMA-0203 VAMA-0204 

ENTER GRIPPER WITH SOLE 
C401S/P401S NEW 

ENTER GRIPPER C401S/P401S 
OLD 

BUSH 

 

 

 

 
 

 

 

 
 

VAMA-0205 VAMA-0206 VAMA-0207 

SCREW M2.5X8 YARN GUIDE ROD 

 
 

 

 
 

 

 
 

 

VAMA-0208 VAMA-0209 VAMA-0210 

WEFT HOLDER BLADE EN.GR. SPRING PLATE SPRING PLATE 

 

 

 

 

 

 

VAMA-0211 VAMA-0212 VAMA-0213 

TRIGGER HEADLESS SCREW SCREW M2.3X4 



 

 
 
11  

 
 

 
 

 
 

VAMA-0214 VAMA-0215 VAMA-0216 

FIBER SOLE 
TAPE SLIDE FOR TAPE C201/401 

RAPIER NEW TYPE 
BLACK SLIDING BLOCK 

 
 

 

 
 

 

 
 

 

VAMA-0217 VAMA-0218 VAMA-0219 

GUDE FLYER X ENT.GRIPPER 
EXIT GRIPPER WITH BASE 
C401S/P401S NEW TYPE 

EXIT GRIPPER C401/S FOR 
SPECIAL YARN 

 
 

 

 
 

 

 
 

 

VAMA-0220 VAMA-0221 VAMA-0222 
EXIT GRIPPER C401S/P401S 

OLD TYPE 
WASHER 2.7X0.8 

TRACTION FOIL FOR 
ENT.GRIPPER 

 

 

 

 

 

 

VAMA-0223 VAMA-0224 VAMA-0225 
PIN BUSH SCREW M3X10 

 

 

 

 

 
 

 

VAMA-0226 VAMA-0227 VAMA-0228 
PIN SPRING HOOK 

 

 

 

 

 

 
 

VAMA-0229 VAMA-0230 VAMA-0231 
OPEN LEVER CONNECTING BLOCK WEFT TRAVELLER 

 

 

 

 
 

 

 
 

 

VAMA-0232 VAMA-0233 VAMA-0234 
WEFT TRAVELLER RED HEAD GUIDE FLYER X EX.GRIPP. SECTOR 

 
 

 

 

 

 

 

VAMA-0235 VAMA-0236 VAMA-0237 
SECTOR CLAMP FOR DRIVE WHEEL DRIVE WHEEL Z=33 TWIN 



 

 
 
12  

 

 

 

 

 

 

VAMA-0238 VAMA-0239 VAMA-0240 
DRIVE WHEEL Z=33 SINGLE 

TOOTH 
GUIDE HOOK 401 ENTER GRIPP.OPEN.PLATE 

 

 

 

 

 

 

VAMA-0241 VAMA-0242 VAMA-0243 
GRIPPER OPENER PLATE BUSH FOR OPENER SPRING 

 

 

 

 

 

 
VAMA-0244 VAMA-0245 VAMA-0246 

PLATE SHAFT FOR CUTTER SHAFT FOR CUTTER 
 

 

 

 

 

 

VAMA-0247 VAMA-0248 VAMA-0249 

SELVEDGE CUTTER 
COMPLETE CLUTCH BRAKE 

UNIT C401 
COMPLETE CLUTCH BRAKE 

UNIT P401 

 

 

 
 

 

 

 

VAMA-0250 VAMA-0251 VAMA-0252 
SELECTING HOLDER LEVER #1 SELECTING HOLDER LEVER #1 PULLEY Z=15 401 

 

 

 

 

 

 

VAMA-0253 VAMA-0254 VAMA-0255 
PULLEY GREY COLOUR PUNCH GEAR ELECTROMAGNET BLOCK 

 

 

 

 

 

 

VAMA-0256 VAMA-0257 VAMA-0258 
SENSOR IP-O FILTER CAP 

 

 

 

 

 

 

VAMA-0259 VAMA-0260 VAMA-0261 

SUPPORT INSERT CHAIN L=630MM W=13.75MM CLAMPER FOR LET-OFF 
 



 

 
 
13  

 
 

 

 

 

 

 

VAMA-0262 VAMA-0263 SX-000036 

PRESSION ROLLER TIE-ROD 
FAN FOR VAMATEX P401 4 

HOLES 
 

 

 

 

 

 
SX-000059 SX-000060 SX-000161 

LEVER HOLDING PIECE NO.5 LEVER HOLDING PIECE NO.3/4 WHEEL 
 

 

 

 

 

 
SX-000180 SX-2110938 SX-2366056 

DRIVE WHEEL GTM 75 TEETH 
WEFT APPROACHING PIN 

VAMATEX LEONARDO 
SLIDING PIECE COMPLETE FOR 

SHAFT S LEONARDO 
 

 

 

 

 

 
SX-2392182 SX-2506196 SX-2508168 

GEAR VAMATEX LEONARDO 
OSCILLATING LEVER VAMATEX 

LEONARDO SPARE PARTS FOR VAMATEX 

 
 

 

 

 

 

 
SX-2509092 SX-2548072.1 SX-2548356 

EXIT SHOE REACTION L=423 
LEONARDO WEFT SELEC.BAR PULLEY 

 

 

 

 

 

SX-2558504 SX-2680666  

OSCILLATING SLIDE VAMATEX 
LEONARDO 

PLATE FOR FRAME RH 
 

 
 
 


	Vamatex
	VAMATEX PINÇA - 10

